faill:
fail2:
fail3:
fail4:
failb:
failb:

126
427
496
110
947
1939

totBad 2499

totCn

121847

20

20

20

jan 2009 distomats 1,6 failures (T12)

* DISTT + DIST6 GoodDist:3

Jr - 4
*y
=

L

—
C T
Capt
L ‘+++++
i : +
L il
0
az
jan 2009 distomats 2,3 failures (T4)  * DIST2 + DIST3
T I T T T T T T T T T I T T T T T T T T T I T T T T T T
L | | |
L P ‘ ;% + K ]
- Jr >‘< —
L ox %ﬁﬁ % + %ﬁ: + % 55: ]
*jﬁ%* ¥ + #%;i:
IS £ +7X X £ ‘ "
- * XX ¥ x K
- K £ ¥ \ e %ﬁ# o3 T ]
S A
B + X ! K ! 1 7
B % % \ x * % \ o ]
L %%%* | | |
- ‘ ‘ —
B ¥ | | i
B + | \ ]
| . . | il | - L
0 100 200 300
az
jon 2009 distomats 4,5 failures (T8)  * DIST4 + DISTS
T I T T T T T T T T T I T T T T T T T T I T T T T T T
I ]
- & ¥ -
L NE _
big %
A ¥
et +
- +H

@}

az



JOH 2009 distornats | 6 failures (T12)  * DISTT + DIST6 GoodDist:3

251
20 :
~ 151 + + + W ]
g HF * | " N
g _— | 4
° WO;‘ + H + ]
[ n | + % _
B + \ + 7
i £ -t .
F Mg .
O 4+ + +
faill: 126 :TF s X +# T
fO“Z 427 O L uuiiﬁilllllir oty L L = | L L L L L L L | 1 L L L L L L L \% 1 M:H’H‘\'F%{ L
faild: 496 0 100 200 300
fail4: 110 oz
fail5: 947 jan 2009 distomats 2,3 failures (T4)  * DISTZ + DISTS
fail6: 1939 25T~ T T ol T T T T ]
totBod 2499 [ : | " . 5 il x
totCnt21847 [ ! ! R N 7
B | ¥ | ]
[ ORREOK KX+ + + ’
C WK R R ]
> 15— ¥ | ¥ x \ —
S r | | M
Q - | | .
8 [ | | |
: \ + X X .
L | + | |
5? \ M - ! _
L | ¥ | _
L - | ¥ i | _
ol 7", LV Ao LN ! A K ¥47
0 100 200 300
az
jan 2009 distomats 4,5 foilures (T8)  * DIST4 + DISTS
25[ T T T T T R ‘*7
B oyt %
C + + + # + ]
B T4 ﬁ%+ T+ ﬁ# 4+ i
r Wowy X B T T %j%
- N MK e g o ]
C * + | !i ]
> 15— | —
S b | N ]
s L | ]
s F | ]
= 10 | ]
- Wi, T Xt i
L + +¢‘£H+% [ + _
> + H |
C | *
B |
0 m%ﬁ+‘ | % | o

6] 100 200
az



